ICSE 2023 EXAMINATION
SPECIMEN QUESTION PAPER
LEPCHA

(SECOND LANGUAGE)

Maximum Marks: 80
Time allowed: Three hours
Answers to this Paper must be written on the paper provided separately.
You will not be allowed to write during the first 15 minutes.
This time is to be spent in reading the question paper.

The time given at the head of this Paper is the time allowed for writing the answers.

Section A is compulsory — All questions in Section A must be answered.

Attempt any four questions from Sections B, answering at least one question each from the
two books you have studied and any two questions from the same books you have

compulsorily chosen.

The intended marks for questions or parts of questions are given in brackets [ ].

SECTION A
(Attempt all questions.)

Question 1
Write a short composition in Lepcha of approximately 250 words on any ONE of [15]

the following topics:

(L5 (00003 (Y (R 3 £ IGEC 6T M0 OEC )y €0 5.
D S XY ST 503 58T EEEYIT

() oF 4@ P50 BT @ 7303 RT

(i) (xS 52103 135683 ¢ ¢

(V) ) (Se( SEC BEP-BKO( RGBS (RF5X 5EE .
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™ BF5 W TR xS 53

Question 2
Write a letter in Lepcha in approximately 120 words on any ONE of the topics given

below:

G OR03 GY RN I8 € IGEC GI(T R0 «(®e( &) €0 53,
® ROk (( KO3 (26430 SE( BGR QUED3 0mT Soe ¢ &
(@ €50 S7300¢ B3N (K6 2O € B(B3 T~ £IEC 53,

() Gk QUG 73203 ¢l -B50 (XIT (BIO@IE OCE V) (Y KX

xe) (6 503 § £) € 53.

Question 3

Read the passage given below and answer in Lepcha the questions that follow using

your own words as for as possible:

(L (O03 BUX Yo (YE( (00203 B(EIT ¢( FYy 53,

B3 B3 9300003 (W) (W B0 BEITCA BHFPINC Gk
BATCD BCEK Fee @ BE( Bk €3EOW Ak ¥) 3
50755603 & B(T03 (85396 S BE3 BENC (B3N
PO B IR B STEC ES( (T EWHE 504D EC G5O (Go()03
SOk DO0 HE T G (7303 >3€36( BHOO) YO 5

[7]
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B5R03 EYRESEY B3R, ¥) 50 BUT BI20U( €IEEC (D (DEIK
BN BUGO30-353 KIZEIE( BIE(03 BT BEE( & BTBU)
6353 A5O3 YIOKEA BV, QK (o (o(T BIFTIT (K ) 6
0) [T QT30 BT K¢ T 50 5603 o 50 B(TI0rR) Seod
@O0 ¥R GEC €3 Y BEETIT 5T K %303 £ 52303
GE -G & (BF03 B(E5TIT S0 T503 WICKG( «OXE . (BY /)
BOWK ¥IE (@0 &) 2003 BT S 58 B5X RIIK
BUTIC) ¥ @IY O €D YIE(T3 >ov3€3 96 R(OP( 525000 5T

IR 3DV (R BFUR &) L5YN 51D,

D) LY BEBY (8B o) (@ 2 2]
(i) «@B39 Q) ¥ICk €35 56 B5K T @ 2 [2]
(i) ) Y F 13 €3 6y @38 235 ) @ 2 [2]
(V) ZE3 LGB ¢Y 5T @ 2 2]
V) 50 BUT BI20( FIRG( €S Y 5T @ 2 [2]
Question 4

Choose the correct option given below each question. (8]

L3 (O003 BET 6 BUE Y &.

D RI5EE3 B (K B(Y (B Y6 2Or( (@ 2
(a) (K43
b) B
) &S

(d) &
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() BESY G ¥P) <03 5603 (VW3 T~ €3 5ave @
(@) &35
(b) Y@
© SY¥P)
@ 63
(i) 2E) 2655 & 55 @
(@) €6)
®) F
(©) €5
) S50
) @ G( 9B%3 £ (0B,
(@) “W( <&
(b) £43
() GH
@) &%
V) T BEBYE 5T€ T B GE( QU0 5T (@
@ %
(b) &«
) S50
) 573
VD) GXT & R SYG & T @ 5603 6XS €3 50% @
(a) 5YEr
(b) YD
©) X2

d) 5YE
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(Vi) (T BEYO( BYBIT (- 5ECL @
(a) €6)
(b) €@
() €50

(d) E5OE0(

(vill)  YIR06 6 3(E WIO3E( & 736
(a) )
(b) 3
© Y
d) ¥
SECTION B

Attempt FOUR questions from this section.
You must answer at least ONE question from each of the TWO books you

have studied and any two other questions.
G -U ( Treasure of prose) AN Zﬁ(%]

Question 5

Read the extract given below and answer in Lepcha the questions that follows:
G (O(°03 BURYY (YOU FYGING( Sy 53
(XW3 -(GB3 &Y 38
(B3Q 5653 «YE))

6% BOYEC BT G SEC 6T @ 13 &k (B /(@ & (5%
2G5S OINEGNS BY ) ¥IkG( BEOP( E(@. @Ok 5550 &
€0 55(F €0( SECGIT <EE3 * 1) <5 &GS X003 T3 EoX

< B5RI EE3 N T3 B RE D BOC,S BT B (T3
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(M)

(ii)

(iii)

(iv)

OO EE3 B350 «TENGY S0k <k35Q6( XS (0% (IR
(GO YK BOITIN QCKG( BCOMY BG¥ «F BCEYE( (5
QLB BU) SCKG( BGEF ZCOP( 1) €3%3 585 SN 503D
EIKEC EWT (TE), W(F (TE), (-5 «TE) 500 538350 «(T0(
BCOPOT €S0 BIQ B BBYF B(FY Tev) (TE) €Y SCKG( > (X

V) 4303 SR Sece.

QUK (( AIFNG )N (% (TENG 1) Y BEYIT Vo &)
(T3 (P £03 52 @ 9

%K) €C BUTEC & 5850 €0 6l SEC 63T @ '8 < EE©3 6l (Y4
(5% 5 (@ o

&KW Y @D €3 ¢Y 38 23¢) @3 290k G B(5YE( 53,

EOC ) *B5Z 90 <€E3 " T3 BCD R.EY(G B(Y Y SCKG( BUEYE(

Je @& ) 539

Question 6

Read the extract given below and answer in Lepcha the questions that follow:

G (00203 BUXYY (YOU SYGITC( SY& 53

A(50 5 [ (B 52T )53 ]

QO3 BUXK : [€3D 5] SEQX3 1.......... [56C 0 & o3 «@IOEC
1335896 K0) R) (F(e-W33) I3 BEFEC T@-8) 56 *e(T3E(
BUB03 YO & 9303 3358 & EINEC TS o) 56 «V)-«V)
2(E e (303 FEQ?3T TEWd) w3V Sk 1 IEIS
BFO3 DEIT* (RY GHT-0( ZOFCE, (D [T 1 B SEQR3 (+F
Y oo [584M3 T-T( 736)€]

FEQO3 [BUE Tem) (794 GHTEC [E@] ¢3© I3 @
(QfR)..... 3 303 G ... RCK €305)%........

(2]

[2]

T23 201 - SPECIMEN

6 of 12



D) 56 @IOE( €35 13 335896 %0) N ) [T [2]
(i) 373 13 /356 YWQ Y~ €38( ) ) (32 [2]
(i) 33 QO3 &K 3 FEWBTY Y9 (& B(SY B (T [3]
(V) SEQ3( BB (D T3) @32 %) ¢TI 5ECOo (32 [3]
Question 7
Read the extract given below and answer in Lepcha the questions that follow:
G (O003 BURYY (YO SYGITC( ST 53

2E) OIO3Y (YR) BC53Y( €CF B0k TO) BGE =¥ B(D 7%

SEB( Y ARG BEI-BENC T (Y (&® B (T AEC BEO

WL EEC AT «E) BUT03 (I VW) (58, “BHE 3 TIN B

SERNG 6 56X 5390) K(B FEB( (N DEC (F«V) 56T . BE)

T 50 T B BGGF B (X €300 T B3 . BO0 €81 ¥k

BIOEC BEI-BENC T 545% ¢ 5%F ¥) Gk~ €30 B¢ 50303

ISk BSEC BI04 «F B ¥k 506( 500 13 ¥k

BOGNA) 3% «T %,
) 5EBC 3T /) (8 @) @ 2 [2]
() BEI-BENIG ) (A G ) (@ 2 [2]
(i) SEHB( L 4EGA GYH SO0 (B 263 BUD) ¥ 13) SCKGA &((TGIG [3]

T 50 @ BV ) @ 2
(V) &Y ) §r Sk ol BE B(STEC GXT 1O (@EC (O 53 2 [3]
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SUNG NORZOT ( Treasure of stories) [‘¢-) (f9¢ |

Question 8

Read the extract given below and answer in Lepcha the questions that follow:

G (0003 BURYY (YOU SYEITC( Y0P 53 .

®
(i)

(iii)

(iv)

(23~ k3503 BW) |
NGASEY E303%K (63,

EGR GISEEL (730 B (6 13 ¥R €3 (3T 350
B (S &) £30( SE 1096 SE( (VDI ((T3 R(YI4
560( €30 (V3T & BUTS T340) T I 2(0IT( B
6 K30 K350 B & BUD BU) 5050 (B EGR GHSEE
693003 €1 BU& (RkIe SEC BUT Ol «EE€( T (<) EIO(, (&
@Y BT GG DNE SEEC 5% @3 Fv) 56 «WI® CLOY
Y3 5T Y R 5040 & 5803 5603 5EMITY 03«0
50E(03 560( 50 TORG( GEC (T 50ITY €30k T3MREE Ty
G0 B3 &GS € 5GTP SB3e 509T0( 933 B3 V)
D03 560( (OEC ¥ 567033600( % B8 73703« W),

(93003 Y €35( ) «W(-(B¥E( GO «) (@3 2

£30) OIY ¢ &Y 3503 BT T3¢ @ 2

58 70336 €35 /33 £ V34 (€3 7 k350 B SEC (G €3
0 5EC) (@ 2

BT DEEC €350 oo (32 RO ¥ 13) 6T &S Fe)
Q@ 2

(2]
[2]

[3]

[3]
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Question 9

Read the extract given below and answer in Lepcha the questions that follow:

GO (00203 BUZYY (YU SYGIT6( ST 5.

(W3 - ) V35Y.

5-0 30303 () 2900 39058 (BE), 736D 0k 0k FATE( X((T (0
[k (E5OCK (5200 YIe( IEHY> TE. 8D (6( X(E
§er) 5203 YIY (@w) €0 €0 > (B335 30y @50¢k % 5&
(55803 Y33 IV W30 ¥ (5.0 BFE (& Fe 3¢ B 3356

33036 SEREC (& @Y B563¢ I €U €0 T € 13 €Y

B36 FOTGENE B (5, BOEC VIR 396 035Y ¢ 5@ 506

EO( (T35 (B0 3356 MY AL 55 50 @Y 0 (5.

B 20 2BEOT ) Y XETIT BEE) @ 2 2]
(D) /356 /3)0) G BT €3 BUD &N 56 @I 2 [2]
() (@ A58 3I0) Y Y6 (O5K03 3(-08( 734 (@ 2 [3]
(V) /3)56 /I0NE 3D (LA (D XEOITY Sk (FEG( I 2 [3]
Question 10
Read the extract given below and answer in Lepcha the questions that follow:
GO (00203 BUXYY (YOU SYEITC( ST 53.
&3~ (X &) D56
@BOEC IBITY £3BI( BIOE( O BEHM (FM 5655 (OXY
(7 ElV) QE:530,XN05E( O BE) B, “Ee)i( BIEC I &
(BEWS (TAO@. > KOTEC b D ) TIHO@, &) G4(THE(
QEEY) (( BUF YIC 4O@. 58 BYIT D T BII( 0 43
5@ 5@ EE) «THO@. (X G BEEI( 20 39500T 13) %) (O
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LQY T (F03 £ (93 6 & DI 6D BBt SEC (DI EC)

BIOEC L BEEAI( 39060 , 250 | 39(0) BYITY (S ) (S
5 RO YIEC (TR BT £3%8) (SRe( BIOY 554

7559 5eZs

O B XY €3 YD ¥ & ) @ 2 [2]
() NHIT Y €3 B/ 605 (DR BIOEC BEP «) (@ 2 [2]
(i) 38) [F 73 673 T efr ¥) T+ &3 «) @ 2 [3]
(v)  £38) LY (@ 5T ¢:( BUTE (o) (@ 2 [3]
Question 11
Read the extract given below and answer in Lepcha the questions that follow:
GO (00203 GIE BURY (YOU SYGING( SV 53
GI(R (XWY'3 -BUE BUT €
[(k5¢ OBk €034 (E3 ]

B(B3-BUOG( 554F B(YEC

2E) A& €E€3 £ &

£5% €626( S0k 52303

554% 2QEC 738 ¥,

7Y S G BB B(YEC

G «V3EDO) €3 (@

GO BYEC Po% 50303

230k BE% 64T @,
@ oY 554% OEC 53K Y (75 £ ¥(Oo 5E) (@ 2 [2]
() RBECSIE Y €3 TG G O ) 4300 W TLo @ 2 [2]
(i)  2O-E(63 ¢ FBTEC BE) (&0 €3 5UD £ 5EPe @ 2 [3]
(V) GREC 53K (( BUBYT Y -CY9 5T (Lo (@ 2 [3]
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Question 12

Read the extract given below and answer in Lepcha the questions that follow:

G (0203 GIME BUTYY (YOU SYQITG( STy 53

GICE (23 BT £ BE «On
(S (TED )
£6) GEC BT BUD 57

BEO( 6 GUTIHT
EGE OO 5ex(% |
(TE) $03 ¢ (5.
RS RANGIINECR
T3 (590 03 7O«
R W ( R T3,
(EX EIX @IV,

0BG IT 5ICREC GY % BUHIT 5T Tl (@ 2 [2]
() T3 (50 B R 6 BT €3 (@ 2 [2]
() «FEWG ¢ ¢(T3 6T Y3006 @ 2%6(T3 @Y (G Y FI3 [3]
B % @ 2
(V) (TEXG( $03 «WSOe €3 B % @ ? [3]
Question 13
Read the extract given below and answer in Lepcha the questions that follow:
G (00203 GIFE (XYY (YOU SYGITe( Sy 53 .
GHE X3 -ENEP 5O
{ RO (583 }
R(-30( (G X(I5OY 6
(EO3 1) (o) (o(
€390 T3 703 €36y T35
55403 % (B 6.
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(REID R WY @GN (64T @
«(F %) BYEC,
BUDID BY, T 5850k
J(F3 B3 €8 6.
@ (€03 13 (P0( X(IZO Y 6 B3 GY THE (@ 2 2]

() 5O T 0o BL03 /3) 00 «T %) & T BN T3 @ 2250 [2]
(33 6 B Y €3 (@3 2

(i) F 33 DE IO ¢ SEC €3 800 5T @3 200k ¢ BSVEC 53 - [3]

V) o (BI0 R W) «BYA (iT (& [31

~~ Z)

(T %) (Y € EYE &Y Yo & 5ot 3¢ @ S 53,
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